

①

$$\begin{array}{r} 3133 \\ 2 \overline{) 6267} \\ \underline{6} \\ 2 \\ \underline{2} \\ 6 \\ \underline{6} \\ 7 \\ \underline{6} \\ 1 \end{array}$$

②

$$\begin{array}{r} 910 \\ 8 \overline{) 7282} \\ \underline{72} \\ 8 \\ \underline{8} \\ 2 \end{array}$$

③

$$\begin{array}{r} 391 \\ 8 \overline{) 3134} \\ \underline{24} \\ 73 \\ \underline{72} \\ 14 \\ \underline{8} \\ 6 \end{array}$$

④

$$\begin{array}{r} 577 \\ 8 \overline{) 4616} \\ \underline{40} \\ 61 \\ \underline{56} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 2123 \\ 3 \overline{) 6370} \\ \underline{6} \\ 3 \\ \underline{3} \\ 7 \\ \underline{6} \\ 10 \\ \underline{9} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 1509 \\ 6 \overline{) 9054} \\ \underline{6} \\ 30 \\ \underline{30} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1209 \\ 7 \overline{) 8466} \\ \underline{7} \\ 14 \\ \underline{14} \\ 66 \\ \underline{63} \\ 3 \end{array}$$

②

$$\begin{array}{r} 885 \\ 6 \overline{) 5310} \\ \underline{48} \\ 51 \\ \underline{48} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1098 \\ 9 \overline{) 9885} \\ \underline{9} \\ 88 \\ \underline{81} \\ 75 \\ \underline{72} \\ 3 \end{array}$$

④

$$\begin{array}{r} 240 \\ 6 \overline{) 1443} \\ \underline{12} \\ 24 \\ \underline{24} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 693 \\ 2 \overline{) 1386} \\ \underline{12} \\ 18 \\ \underline{18} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 664 \\ 6 \overline{) 3984} \\ \underline{36} \\ 38 \\ \underline{36} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1328 \\ 5 \overline{)6643} \\ \underline{5} \\ 16 \\ \underline{15} \\ 14 \\ \underline{10} \\ 43 \\ \underline{40} \\ 3 \end{array}$$

②

$$\begin{array}{r} 1044 \\ 6 \overline{)6264} \\ \underline{6} \\ 26 \\ \underline{24} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

③

$$\begin{array}{r} 701 \\ 9 \overline{)6315} \\ \underline{63} \\ 15 \\ \underline{9} \\ 6 \end{array}$$

④

$$\begin{array}{r} 1039 \\ 7 \overline{)7275} \\ \underline{7} \\ 27 \\ \underline{21} \\ 65 \\ \underline{63} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 950 \\ 9 \overline{)8552} \\ \underline{81} \\ 45 \\ \underline{45} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 575 \\ 9 \overline{)5179} \\ \underline{45} \\ 67 \\ \underline{63} \\ 49 \\ \underline{45} \\ 4 \end{array}$$

①

$$\begin{array}{r} 232 \\ 9 \overline{) 2088} \\ \underline{18} \\ 28 \\ \underline{27} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

②

$$\begin{array}{r} 524 \\ 9 \overline{) 4716} \\ \underline{45} \\ 21 \\ \underline{18} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

③

$$\begin{array}{r} 806 \\ 2 \overline{) 1613} \\ \underline{16} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

④

$$\begin{array}{r} 2221 \\ 3 \overline{) 6665} \\ \underline{6} \\ 6 \\ \underline{6} \\ 6 \\ \underline{6} \\ 5 \\ \underline{3} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 1111 \\ 7 \overline{) 7777} \\ \underline{7} \\ 7 \\ \underline{7} \\ 7 \\ \underline{7} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 808 \\ 4 \overline{) 3232} \\ \underline{32} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

①

$$\begin{array}{r} 665 \\ 5 \overline{) 3325} \\ \underline{30} \\ 32 \\ \underline{30} \\ 25 \\ \underline{25} \\ 0 \end{array}$$

②

$$\begin{array}{r} 926 \\ 5 \overline{) 4630} \\ \underline{45} \\ 13 \\ \underline{10} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1069 \\ 6 \overline{) 6414} \\ \underline{6} \\ 41 \\ \underline{36} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

④

$$\begin{array}{r} 373 \\ 9 \overline{) 3357} \\ \underline{27} \\ 65 \\ \underline{63} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 795 \\ 9 \overline{) 7161} \\ \underline{63} \\ 86 \\ \underline{81} \\ 51 \\ \underline{45} \\ 6 \end{array}$$

⑥

$$\begin{array}{r} 2603 \\ 3 \overline{) 7809} \\ \underline{6} \\ 18 \\ \underline{18} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

①

$$\begin{array}{r} 231 \\ 6 \overline{) 1389} \\ \underline{12} \\ 18 \\ \underline{18} \\ 9 \\ 6 \\ \underline{6} \\ 3 \end{array}$$

②

$$\begin{array}{r} 687 \\ 8 \overline{) 5497} \\ \underline{48} \\ 69 \\ \underline{64} \\ 57 \\ 56 \\ \underline{56} \\ 1 \end{array}$$

③

$$\begin{array}{r} 2046 \\ 2 \overline{) 4093} \\ \underline{4} \\ 9 \\ 8 \\ \underline{8} \\ 13 \\ 12 \\ \underline{12} \\ 1 \end{array}$$

④

$$\begin{array}{r} 2871 \\ 3 \overline{) 8615} \\ \underline{6} \\ 26 \\ \underline{24} \\ 21 \\ 21 \\ \underline{21} \\ 5 \\ 3 \\ \underline{3} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 809 \\ 5 \overline{) 4046} \\ \underline{40} \\ 46 \\ \underline{45} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 1402 \\ 7 \overline{) 9814} \\ \underline{7} \\ 28 \\ \underline{28} \\ 14 \\ 14 \\ \underline{14} \\ 0 \end{array}$$

①

$$\begin{array}{r} 996 \\ 8 \overline{) 7970} \\ \underline{72} \\ 77 \\ \underline{72} \\ 50 \\ \underline{48} \\ 2 \end{array}$$

②

$$\begin{array}{r} 205 \\ 8 \overline{) 1643} \\ \underline{16} \\ 43 \\ \underline{40} \\ 3 \end{array}$$

③

$$\begin{array}{r} 231 \\ 5 \overline{) 1158} \\ \underline{10} \\ 15 \\ \underline{15} \\ 8 \\ \underline{5} \\ 3 \end{array}$$

④

$$\begin{array}{r} 1323 \\ 7 \overline{) 9261} \\ \underline{7} \\ 22 \\ \underline{21} \\ 16 \\ \underline{14} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1281 \\ 7 \overline{) 8969} \\ \underline{7} \\ 19 \\ \underline{14} \\ 56 \\ \underline{56} \\ 9 \\ \underline{7} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 907 \\ 5 \overline{) 4535} \\ \underline{45} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

①

$$\begin{array}{r} 466 \\ 7 \overline{) 3265} \\ \underline{28} \\ 46 \\ \underline{42} \\ 45 \\ \underline{42} \\ 3 \end{array}$$

②

$$\begin{array}{r} 300 \\ 8 \overline{) 2405} \\ \underline{24} \\ 5 \end{array}$$

③

$$\begin{array}{r} 1071 \\ 9 \overline{) 9639} \\ \underline{9} \\ 63 \\ \underline{63} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

④

$$\begin{array}{r} 4408 \\ 2 \overline{) 8817} \\ \underline{8} \\ 8 \\ \underline{8} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 650 \\ 9 \overline{) 5852} \\ \underline{54} \\ 45 \\ \underline{45} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 1384 \\ 5 \overline{) 6923} \\ \underline{5} \\ 19 \\ \underline{15} \\ 42 \\ \underline{40} \\ 23 \\ \underline{20} \\ 3 \end{array}$$

①

$$\begin{array}{r} 1305 \\ 6 \overline{) 7833} \\ \underline{6} \\ 18 \\ \underline{18} \\ 33 \\ \underline{30} \\ 3 \end{array}$$

②

$$\begin{array}{r} 2247 \\ 3 \overline{) 6743} \\ \underline{6} \\ 7 \\ \underline{6} \\ 14 \\ \underline{12} \\ 23 \\ \underline{21} \\ 2 \end{array}$$

③

$$\begin{array}{r} 610 \\ 4 \overline{) 2440} \\ \underline{24} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

④

$$\begin{array}{r} 290 \\ 5 \overline{) 1450} \\ \underline{10} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 533 \\ 9 \overline{) 4797} \\ \underline{45} \\ 29 \\ \underline{27} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 860 \\ 9 \overline{) 7741} \\ \underline{72} \\ 54 \\ \underline{54} \\ 1 \end{array}$$

①

$$\begin{array}{r} 559 \\ 6 \overline{) 3354} \\ \underline{30} \\ 35 \\ \underline{30} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

②

$$\begin{array}{r} 3166 \\ 3 \overline{) 9499} \\ \underline{9} \\ 4 \\ \underline{3} \\ 19 \\ \underline{18} \\ 19 \\ \underline{18} \\ 1 \end{array}$$

③

$$\begin{array}{r} 1804 \\ 4 \overline{) 7219} \\ \underline{4} \\ 32 \\ \underline{32} \\ 19 \\ \underline{16} \\ 3 \end{array}$$

④

$$\begin{array}{r} 1749 \\ 4 \overline{) 6996} \\ \underline{4} \\ 29 \\ \underline{28} \\ 19 \\ \underline{16} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 2403 \\ 2 \overline{) 4807} \\ \underline{4} \\ 8 \\ \underline{8} \\ 7 \\ \underline{6} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 743 \\ 9 \overline{) 6691} \\ \underline{63} \\ 39 \\ \underline{36} \\ 31 \\ \underline{27} \\ 4 \end{array}$$

①

$$\begin{array}{r} 1605 \\ 5 \overline{) 8025} \\ \underline{5} \\ 30 \\ \underline{30} \\ 25 \\ \underline{25} \\ 0 \end{array}$$

②

$$\begin{array}{r} 835 \\ 3 \overline{) 2507} \\ \underline{24} \\ 10 \\ 9 \\ \underline{9} \\ 17 \\ \underline{15} \\ 2 \end{array}$$

③

$$\begin{array}{r} 707 \\ 7 \overline{) 4952} \\ \underline{49} \\ 52 \\ \underline{49} \\ 3 \end{array}$$

④

$$\begin{array}{r} 1653 \\ 6 \overline{) 9918} \\ \underline{6} \\ 39 \\ \underline{36} \\ 31 \\ \underline{30} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1323 \\ 6 \overline{) 7943} \\ \underline{6} \\ 19 \\ \underline{18} \\ 14 \\ \underline{12} \\ 23 \\ \underline{18} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 1420 \\ 6 \overline{) 8525} \\ \underline{6} \\ 25 \\ \underline{24} \\ 12 \\ \underline{12} \\ 5 \end{array}$$

①

$$\begin{array}{r} 1305 \\ 6 \overline{) 7832} \\ \underline{6} \\ 18 \\ \underline{18} \\ 32 \\ \underline{30} \\ 2 \end{array}$$

②

$$\begin{array}{r} 1241 \\ 7 \overline{) 8691} \\ \underline{7} \\ 16 \\ \underline{14} \\ 29 \\ \underline{28} \\ 11 \\ \underline{7} \\ 4 \end{array}$$

③

$$\begin{array}{r} 769 \\ 3 \overline{) 2307} \\ \underline{21} \\ 20 \\ \underline{18} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

④

$$\begin{array}{r} 505 \\ 2 \overline{) 1011} \\ \underline{10} \\ 11 \\ \underline{10} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 536 \\ 4 \overline{) 2147} \\ \underline{20} \\ 14 \\ \underline{12} \\ 27 \\ \underline{24} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 1084 \\ 4 \overline{) 4338} \\ \underline{4} \\ 33 \\ \underline{32} \\ 18 \\ \underline{16} \\ 2 \end{array}$$

①

$$\begin{array}{r} 1098 \\ 4 \overline{) 4392} \\ \underline{4} \\ 39 \\ \underline{36} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

②

$$\begin{array}{r} 805 \\ 7 \overline{) 5636} \\ \underline{56} \\ 36 \\ \underline{35} \\ 1 \end{array}$$

③

$$\begin{array}{r} 1272 \\ 6 \overline{) 7637} \\ \underline{6} \\ 16 \\ \underline{12} \\ 43 \\ \underline{42} \\ 17 \\ \underline{12} \\ 5 \end{array}$$

④

$$\begin{array}{r} 2492 \\ 3 \overline{) 7476} \\ \underline{6} \\ 14 \\ \underline{12} \\ 27 \\ \underline{27} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 305 \\ 7 \overline{) 2139} \\ \underline{21} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 2405 \\ 3 \overline{) 7216} \\ \underline{6} \\ 12 \\ \underline{12} \\ 16 \\ \underline{15} \\ 1 \end{array}$$

①

$$\begin{array}{r} 464 \\ 4 \overline{) 1858} \\ \underline{16} \\ 25 \\ \underline{24} \\ 18 \\ \underline{16} \\ 2 \end{array}$$

②

$$\begin{array}{r} 1099 \\ 9 \overline{) 9898} \\ \underline{9} \\ 89 \\ \underline{81} \\ 88 \\ \underline{81} \\ 7 \end{array}$$

③

$$\begin{array}{r} 1703 \\ 2 \overline{) 3406} \\ \underline{2} \\ 14 \\ \underline{14} \\ 6 \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 710 \\ 7 \overline{) 4975} \\ \underline{49} \\ 7 \\ \underline{7} \\ 5 \end{array}$$

⑤

$$\begin{array}{r} 2234 \\ 3 \overline{) 6702} \\ \underline{6} \\ 7 \\ \underline{6} \\ 10 \\ \underline{9} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1055 \\ 5 \overline{) 5277} \\ \underline{5} \\ 27 \\ \underline{25} \\ 27 \\ \underline{25} \\ 2 \end{array}$$

①

$$\begin{array}{r} 729 \\ 8 \overline{) 5839} \\ \underline{56} \\ 23 \\ \underline{16} \\ 79 \\ \underline{72} \\ 7 \end{array}$$

②

$$\begin{array}{r} 1114 \\ 2 \overline{) 2229} \\ \underline{2} \\ 2 \\ \underline{2} \\ 2 \\ \underline{2} \\ 9 \\ \underline{8} \\ 1 \end{array}$$

③

$$\begin{array}{r} 4806 \\ 2 \overline{) 9612} \\ \underline{8} \\ 16 \\ \underline{16} \\ 0 \\ 12 \\ \underline{12} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1048 \\ 5 \overline{) 5242} \\ \underline{5} \\ 24 \\ \underline{20} \\ 42 \\ \underline{40} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 1014 \\ 8 \overline{) 8115} \\ \underline{8} \\ 11 \\ \underline{8} \\ 35 \\ \underline{32} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 1070 \\ 8 \overline{) 8567} \\ \underline{8} \\ 56 \\ \underline{56} \\ 7 \end{array}$$

①

$$\begin{array}{r} 710 \\ 9 \overline{) 6396} \\ \underline{63} \\ 9 \\ \underline{9} \\ 6 \end{array}$$

②

$$\begin{array}{r} 164 \\ 9 \overline{) 1479} \\ \underline{9} \\ 57 \\ \underline{54} \\ 39 \\ \underline{36} \\ 3 \end{array}$$

③

$$\begin{array}{r} 527 \\ 9 \overline{) 4743} \\ \underline{45} \\ 24 \\ \underline{18} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

④

$$\begin{array}{r} 701 \\ 7 \overline{) 4907} \\ \underline{49} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1024 \\ 6 \overline{) 6145} \\ \underline{6} \\ 14 \\ \underline{12} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 1084 \\ 8 \overline{) 8672} \\ \underline{8} \\ 67 \\ \underline{64} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

①

$$\begin{array}{r} 683 \\ 7 \overline{) 4784} \\ \underline{42} \\ 58 \\ \underline{56} \\ 24 \\ \underline{21} \\ 3 \end{array}$$

②

$$\begin{array}{r} 440 \\ 8 \overline{) 3526} \\ \underline{32} \\ 32 \\ \underline{32} \\ 6 \end{array}$$

③

$$\begin{array}{r} 840 \\ 7 \overline{) 5880} \\ \underline{56} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

④

$$\begin{array}{r} 627 \\ 8 \overline{) 5016} \\ \underline{48} \\ 21 \\ \underline{16} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1104 \\ 9 \overline{) 9944} \\ \underline{9} \\ 9 \\ \underline{9} \\ 44 \\ \underline{36} \\ 8 \end{array}$$

⑥

$$\begin{array}{r} 1016 \\ 5 \overline{) 5082} \\ \underline{5} \\ 8 \\ \underline{5} \\ 32 \\ \underline{30} \\ 2 \end{array}$$

①

$$\begin{array}{r} 1503 \\ 3 \overline{) 4510} \\ \underline{3} \\ 15 \\ \underline{15} \\ 10 \\ \underline{9} \\ 1 \end{array}$$

②

$$\begin{array}{r} 125 \\ 8 \overline{) 1000} \\ \underline{8} \\ 20 \\ \underline{16} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1448 \\ 3 \overline{) 4345} \\ \underline{3} \\ 13 \\ \underline{12} \\ 14 \\ \underline{12} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

④

$$\begin{array}{r} 319 \\ 9 \overline{) 2871} \\ \underline{27} \\ 17 \\ \underline{9} \\ 81 \\ \underline{81} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1037 \\ 3 \overline{) 3111} \\ \underline{3} \\ 11 \\ \underline{9} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 875 \\ 4 \overline{) 3502} \\ \underline{32} \\ 30 \\ \underline{28} \\ 22 \\ \underline{20} \\ 2 \end{array}$$

①

$$\begin{array}{r}
 1645 \\
 4 \overline{) 6580} \\
 \underline{4} \\
 25 \\
 \underline{24} \\
 18 \\
 \underline{16} \\
 20 \\
 \underline{20} \\
 0
 \end{array}$$

②

$$\begin{array}{r}
 1147 \\
 5 \overline{) 5735} \\
 \underline{5} \\
 7 \\
 \underline{5} \\
 23 \\
 \underline{20} \\
 35 \\
 \underline{35} \\
 0
 \end{array}$$

③

$$\begin{array}{r}
 2096 \\
 4 \overline{) 8387} \\
 \underline{8} \\
 38 \\
 \underline{36} \\
 27 \\
 \underline{24} \\
 3
 \end{array}$$

④

$$\begin{array}{r}
 4217 \\
 2 \overline{) 8435} \\
 \underline{8} \\
 4 \\
 \underline{4} \\
 3 \\
 \underline{2} \\
 15 \\
 \underline{14} \\
 1
 \end{array}$$

⑤

$$\begin{array}{r}
 305 \\
 4 \overline{) 1222} \\
 \underline{12} \\
 22 \\
 \underline{20} \\
 2
 \end{array}$$

⑥

$$\begin{array}{r}
 2430 \\
 2 \overline{) 4860} \\
 \underline{4} \\
 8 \\
 \underline{8} \\
 6 \\
 \underline{6} \\
 0
 \end{array}$$

①

$$\begin{array}{r} 364 \\ 7 \overline{) 2548} \\ \underline{21} \\ 44 \\ \underline{42} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1027 \\ 5 \overline{) 5139} \\ \underline{5} \\ 13 \\ \underline{10} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

③

$$\begin{array}{r} 838 \\ 6 \overline{) 5028} \\ \underline{48} \\ 22 \\ \underline{18} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

④

$$\begin{array}{r} 350 \\ 4 \overline{) 1403} \\ \underline{12} \\ 20 \\ \underline{20} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 1008 \\ 7 \overline{) 7056} \\ \underline{7} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1032 \\ 6 \overline{) 6192} \\ \underline{6} \\ 19 \\ \underline{18} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

①

$$\begin{array}{r}
 1554 \\
 4 \overline{) 6216} \\
 \underline{4} \\
 22 \\
 \underline{20} \\
 21 \\
 \underline{20} \\
 16 \\
 \underline{16} \\
 0
 \end{array}$$

②

$$\begin{array}{r}
 1280 \\
 4 \overline{) 5123} \\
 \underline{4} \\
 11 \\
 \underline{8} \\
 32 \\
 \underline{32} \\
 3
 \end{array}$$

③

$$\begin{array}{r}
 1034 \\
 8 \overline{) 8279} \\
 \underline{8} \\
 27 \\
 \underline{24} \\
 39 \\
 \underline{32} \\
 7
 \end{array}$$

④

$$\begin{array}{r}
 505 \\
 9 \overline{) 4550} \\
 \underline{45} \\
 50 \\
 \underline{45} \\
 5
 \end{array}$$

⑤

$$\begin{array}{r}
 975 \\
 6 \overline{) 5851} \\
 \underline{54} \\
 45 \\
 \underline{42} \\
 31 \\
 \underline{30} \\
 1
 \end{array}$$

⑥

$$\begin{array}{r}
 3578 \\
 2 \overline{) 7157} \\
 \underline{6} \\
 11 \\
 \underline{10} \\
 15 \\
 \underline{14} \\
 17 \\
 \underline{16} \\
 1
 \end{array}$$

①

$$\begin{array}{r}
 2464 \\
 4 \overline{) 9856} \\
 \underline{8} \\
 18 \\
 \underline{16} \\
 25 \\
 \underline{24} \\
 16 \\
 \underline{16} \\
 0
 \end{array}$$

②

$$\begin{array}{r}
 2060 \\
 4 \overline{) 8242} \\
 \underline{8} \\
 24 \\
 \underline{24} \\
 2
 \end{array}$$

③

$$\begin{array}{r}
 1011 \\
 4 \overline{) 4046} \\
 \underline{4} \\
 4 \\
 \underline{4} \\
 6 \\
 \underline{4} \\
 2
 \end{array}$$

④

$$\begin{array}{r}
 508 \\
 7 \overline{) 3559} \\
 \underline{35} \\
 59 \\
 \underline{56} \\
 3
 \end{array}$$

⑤

$$\begin{array}{r}
 1377 \\
 5 \overline{) 6885} \\
 \underline{5} \\
 18 \\
 \underline{15} \\
 38 \\
 \underline{35} \\
 35 \\
 \underline{35} \\
 0
 \end{array}$$

⑥

$$\begin{array}{r}
 1090 \\
 7 \overline{) 7630} \\
 \underline{7} \\
 63 \\
 \underline{63} \\
 0
 \end{array}$$

①

$$\begin{array}{r}
 1366 \\
 7 \overline{) 9562} \\
 \underline{7} \\
 25 \\
 \underline{21} \\
 46 \\
 \underline{42} \\
 42 \\
 \underline{42} \\
 0
 \end{array}$$

②

$$\begin{array}{r}
 751 \\
 8 \overline{) 6008} \\
 \underline{56} \\
 40 \\
 \underline{40} \\
 8 \\
 \underline{8} \\
 0
 \end{array}$$

③

$$\begin{array}{r}
 440 \\
 7 \overline{) 3080} \\
 \underline{28} \\
 28 \\
 \underline{28} \\
 0
 \end{array}$$

④

$$\begin{array}{r}
 407 \\
 8 \overline{) 3263} \\
 \underline{32} \\
 63 \\
 \underline{56} \\
 7
 \end{array}$$

⑤

$$\begin{array}{r}
 607 \\
 5 \overline{) 3036} \\
 \underline{30} \\
 36 \\
 \underline{35} \\
 1
 \end{array}$$

⑥

$$\begin{array}{r}
 1166 \\
 6 \overline{) 6996} \\
 \underline{6} \\
 9 \\
 \underline{6} \\
 39 \\
 \underline{36} \\
 36 \\
 \underline{36} \\
 0
 \end{array}$$

①

$$\begin{array}{r} 586 \\ 9 \overline{) 5279} \\ \underline{45} \\ 77 \\ \underline{72} \\ 59 \\ \underline{54} \\ 5 \end{array}$$

②

$$\begin{array}{r} 2805 \\ 2 \overline{) 5610} \\ \underline{4} \\ 16 \\ \underline{16} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

③

$$\begin{array}{r} 748 \\ 2 \overline{) 1497} \\ \underline{14} \\ 9 \\ \underline{8} \\ 17 \\ \underline{16} \\ 1 \end{array}$$

④

$$\begin{array}{r} 1209 \\ 5 \overline{) 6045} \\ \underline{5} \\ 10 \\ \underline{10} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 360 \\ 5 \overline{) 1802} \\ \underline{15} \\ 30 \\ \underline{30} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 1024 \\ 8 \overline{) 8192} \\ \underline{8} \\ 19 \\ \underline{16} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

①

$$\begin{array}{r} 270 \\ 5 \overline{) 1353} \\ \underline{10} \\ 35 \\ \underline{35} \\ 3 \end{array}$$

②

$$\begin{array}{r} 773 \\ 6 \overline{) 4638} \\ \underline{42} \\ 43 \\ \underline{42} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1620 \\ 6 \overline{) 9720} \\ \underline{6} \\ 37 \\ \underline{36} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1574 \\ 4 \overline{) 6299} \\ \underline{4} \\ 22 \\ \underline{20} \\ 29 \\ \underline{28} \\ 19 \\ \underline{16} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 1469 \\ 6 \overline{) 8814} \\ \underline{6} \\ 28 \\ \underline{24} \\ 41 \\ \underline{36} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 2026 \\ 4 \overline{) 8105} \\ \underline{8} \\ 10 \\ \underline{8} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

①

$$\begin{array}{r} 406 \\ 9 \overline{) 3654} \\ \underline{36} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

②

$$\begin{array}{r} 3046 \\ 2 \overline{) 6092} \\ \underline{6} \\ 9 \\ \underline{8} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

③

$$\begin{array}{r} 802 \\ 6 \overline{) 4812} \\ \underline{48} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

④

$$\begin{array}{r} 699 \\ 8 \overline{) 5592} \\ \underline{48} \\ 79 \\ \underline{72} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 4061 \\ 2 \overline{) 8122} \\ \underline{8} \\ 12 \\ \underline{12} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 3148 \\ 3 \overline{) 9445} \\ \underline{9} \\ 4 \\ \underline{3} \\ 14 \\ \underline{12} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

①

$$\begin{array}{r} 428 \\ 9 \overline{) 3852} \\ \underline{36} \\ 25 \\ \underline{18} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1070 \\ 9 \overline{) 9635} \\ \underline{9} \\ 63 \\ \underline{63} \\ 5 \end{array}$$

③

$$\begin{array}{r} 299 \\ 9 \overline{) 2691} \\ \underline{18} \\ 89 \\ \underline{81} \\ 81 \\ \underline{81} \\ 0 \end{array}$$

④

$$\begin{array}{r} 708 \\ 9 \overline{) 6376} \\ \underline{63} \\ 76 \\ \underline{72} \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 370 \\ 8 \overline{) 2967} \\ \underline{24} \\ 56 \\ \underline{56} \\ 7 \end{array}$$

⑥

$$\begin{array}{r} 600 \\ 5 \overline{) 3002} \\ \underline{30} \\ 2 \end{array}$$

①

$$\begin{array}{r} 4501 \\ 2 \overline{) 9003} \\ \underline{8} \\ 10 \\ \underline{10} \\ 3 \\ \underline{2} \\ 1 \end{array}$$

②

$$\begin{array}{r} 1177 \\ 2 \overline{) 2355} \\ \underline{2} \\ 3 \\ \underline{2} \\ 15 \\ \underline{14} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

③

$$\begin{array}{r} 973 \\ 8 \overline{) 7791} \\ \underline{72} \\ 59 \\ \underline{56} \\ 31 \\ \underline{24} \\ 7 \end{array}$$

④

$$\begin{array}{r} 620 \\ 6 \overline{) 3721} \\ \underline{36} \\ 12 \\ \underline{12} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 2207 \\ 3 \overline{) 6622} \\ \underline{6} \\ 6 \\ \underline{6} \\ 22 \\ \underline{21} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 562 \\ 9 \overline{) 5058} \\ \underline{45} \\ 55 \\ \underline{54} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

①

$$\begin{array}{r} 2353 \\ 4 \overline{) 9415} \\ \underline{8} \\ 14 \\ \underline{12} \\ 21 \\ \underline{20} \\ 15 \\ \underline{12} \\ 3 \end{array}$$

②

$$\begin{array}{r} 1110 \\ 7 \overline{) 7774} \\ \underline{7} \\ 7 \\ \underline{7} \\ 7 \\ \underline{7} \\ 4 \end{array}$$

③

$$\begin{array}{r} 136 \\ 8 \overline{) 1088} \\ \underline{8} \\ 28 \\ \underline{24} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

④

$$\begin{array}{r} 512 \\ 9 \overline{) 4608} \\ \underline{45} \\ 10 \\ \underline{9} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1024 \\ 2 \overline{) 2049} \\ \underline{2} \\ 4 \\ \underline{4} \\ 9 \\ \underline{8} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 891 \\ 2 \overline{) 1782} \\ \underline{16} \\ 18 \\ \underline{18} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

①

$$\begin{array}{r} 292 \\ 6 \overline{) 1752} \\ \underline{12} \\ 55 \\ \underline{54} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1362 \\ 5 \overline{) 6810} \\ \underline{5} \\ 18 \\ \underline{15} \\ 31 \\ \underline{30} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

③

$$\begin{array}{r} 530 \\ 8 \overline{) 4245} \\ \underline{40} \\ 24 \\ \underline{24} \\ 5 \end{array}$$

④

$$\begin{array}{r} 498 \\ 3 \overline{) 1496} \\ \underline{12} \\ 29 \\ \underline{27} \\ 26 \\ \underline{24} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 1141 \\ 6 \overline{) 6846} \\ \underline{6} \\ 8 \\ \underline{6} \\ 24 \\ \underline{24} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1102 \\ 9 \overline{) 9921} \\ \underline{9} \\ 9 \\ \underline{9} \\ 21 \\ \underline{18} \\ 3 \end{array}$$

①

$$\begin{array}{r} 2681 \\ 3 \overline{) 8043} \\ \underline{6} \\ 20 \\ \underline{18} \\ 24 \\ \underline{24} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1108 \\ 6 \overline{) 6649} \\ \underline{6} \\ 6 \\ \underline{6} \\ 49 \\ \underline{48} \\ 1 \end{array}$$

③

$$\begin{array}{r} 791 \\ 6 \overline{) 4751} \\ \underline{42} \\ 55 \\ \underline{54} \\ 11 \\ \underline{6} \\ 5 \end{array}$$

④

$$\begin{array}{r} 1024 \\ 8 \overline{) 8196} \\ \underline{8} \\ 19 \\ \underline{16} \\ 36 \\ \underline{32} \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 1002 \\ 5 \overline{) 5010} \\ \underline{5} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1433 \\ 4 \overline{) 5732} \\ \underline{4} \\ 17 \\ \underline{16} \\ 13 \\ \underline{12} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

①

$$\begin{array}{r}
 1369 \\
 6 \overline{) 8216} \\
 \underline{6} \\
 22 \\
 \underline{18} \\
 41 \\
 \underline{36} \\
 56 \\
 \underline{54} \\
 2
 \end{array}$$

②

$$\begin{array}{r}
 1460 \\
 5 \overline{) 7303} \\
 \underline{5} \\
 23 \\
 \underline{20} \\
 30 \\
 \underline{30} \\
 3
 \end{array}$$

③

$$\begin{array}{r}
 1353 \\
 7 \overline{) 9471} \\
 \underline{7} \\
 24 \\
 \underline{21} \\
 37 \\
 \underline{35} \\
 21 \\
 \underline{21} \\
 0
 \end{array}$$

④

$$\begin{array}{r}
 4493 \\
 2 \overline{) 8987} \\
 \underline{8} \\
 9 \\
 \underline{8} \\
 18 \\
 \underline{18} \\
 7 \\
 \underline{6} \\
 1
 \end{array}$$

⑤

$$\begin{array}{r}
 430 \\
 8 \overline{) 3440} \\
 \underline{32} \\
 24 \\
 \underline{24} \\
 0
 \end{array}$$

⑥

$$\begin{array}{r}
 940 \\
 2 \overline{) 1880} \\
 \underline{18} \\
 8 \\
 \underline{8} \\
 0
 \end{array}$$

①

$$\begin{array}{r} 1196 \\ 2 \overline{) 2393} \\ \underline{2} \\ 3 \\ \underline{2} \\ 19 \\ \underline{18} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

②

$$\begin{array}{r} 2047 \\ 2 \overline{) 4095} \\ \underline{4} \\ 9 \\ \underline{8} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

③

$$\begin{array}{r} 490 \\ 8 \overline{) 3920} \\ \underline{32} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

④

$$\begin{array}{r} 930 \\ 6 \overline{) 5584} \\ \underline{54} \\ 18 \\ \underline{18} \\ 4 \end{array}$$

⑤

$$\begin{array}{r} 910 \\ 9 \overline{) 8192} \\ \underline{81} \\ 9 \\ \underline{9} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 1404 \\ 4 \overline{) 5618} \\ \underline{4} \\ 16 \\ \underline{16} \\ 18 \\ \underline{16} \\ 2 \end{array}$$

①

$$\begin{array}{r} 2014 \\ 4 \overline{) 8056} \\ \underline{8} \\ 5 \\ \underline{4} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 1807 \\ 4 \overline{) 7228} \\ \underline{4} \\ 32 \\ \underline{32} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1027 \\ 6 \overline{) 6166} \\ \underline{6} \\ 16 \\ \underline{12} \\ 46 \\ \underline{42} \\ 4 \end{array}$$

④

$$\begin{array}{r} 2068 \\ 3 \overline{) 6205} \\ \underline{6} \\ 20 \\ \underline{18} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 1346 \\ 7 \overline{) 9425} \\ \underline{7} \\ 24 \\ \underline{21} \\ 32 \\ \underline{28} \\ 45 \\ \underline{42} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 1005 \\ 5 \overline{) 5027} \\ \underline{5} \\ 27 \\ \underline{25} \\ 2 \end{array}$$

①

$$\begin{array}{r} 1029 \\ 8 \overline{) 8236} \\ \underline{8} \\ 23 \\ \underline{16} \\ 76 \\ \underline{72} \\ 4 \end{array}$$

②

$$\begin{array}{r} 548 \\ 2 \overline{) 1096} \\ \underline{10} \\ 9 \\ \underline{8} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

③

$$\begin{array}{r} 2810 \\ 3 \overline{) 8430} \\ \underline{6} \\ 24 \\ \underline{24} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

④

$$\begin{array}{r} 580 \\ 8 \overline{) 4640} \\ \underline{40} \\ 64 \\ \underline{64} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 720 \\ 9 \overline{) 6485} \\ \underline{63} \\ 18 \\ \underline{18} \\ 5 \end{array}$$

⑥

$$\begin{array}{r} 1652 \\ 4 \overline{) 6608} \\ \underline{4} \\ 26 \\ \underline{24} \\ 20 \\ \underline{20} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

①

$$\begin{array}{r} 1601 \\ 6 \overline{) 9610} \\ \underline{6} \\ 36 \\ \underline{36} \\ 10 \\ \underline{6} \\ 4 \end{array}$$

②

$$\begin{array}{r} 1704 \\ 4 \overline{) 6819} \\ \underline{4} \\ 28 \\ \underline{28} \\ 19 \\ \underline{16} \\ 3 \end{array}$$

③

$$\begin{array}{r} 610 \\ 2 \overline{) 1220} \\ \underline{12} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

④

$$\begin{array}{r} 403 \\ 9 \overline{) 3628} \\ \underline{36} \\ 28 \\ \underline{27} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 3207 \\ 3 \overline{) 9621} \\ \underline{9} \\ 6 \\ \underline{6} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1401 \\ 7 \overline{) 9813} \\ \underline{7} \\ 28 \\ \underline{28} \\ 13 \\ \underline{7} \\ 6 \end{array}$$

①

$$\begin{array}{r} 605 \\ 3 \overline{) 1815} \\ \underline{18} \\ 15 \\ \underline{ 15} \\ 0 \end{array}$$

②

$$\begin{array}{r} 3128 \\ 2 \overline{) 6257} \\ \underline{6} \\ 2 \\ \underline{ 2} \\ 5 \\ \underline{ 4} \\ 7 \\ \underline{ 6} \\ 1 \end{array}$$

③

$$\begin{array}{r} 1044 \\ 2 \overline{) 2089} \\ \underline{2} \\ 8 \\ \underline{ 8} \\ 9 \\ \underline{ 8} \\ 1 \end{array}$$

④

$$\begin{array}{r} 1165 \\ 6 \overline{) 6990} \\ \underline{6} \\ 9 \\ \underline{ 6} \\ 39 \\ \underline{ 36} \\ 30 \\ \underline{ 30} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 4785 \\ 2 \overline{) 9570} \\ \underline{8} \\ 15 \\ \underline{ 14} \\ 17 \\ \underline{ 16} \\ 10 \\ \underline{ 10} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1440 \\ 5 \overline{) 7200} \\ \underline{5} \\ 22 \\ \underline{ 20} \\ 20 \\ \underline{ 20} \\ 0 \end{array}$$

①

$$\begin{array}{r} 780 \\ 5 \overline{) 3900} \\ \underline{35} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

②

$$\begin{array}{r} 762 \\ 7 \overline{) 5335} \\ \underline{49} \\ 43 \\ \underline{42} \\ 15 \\ \underline{14} \\ 1 \end{array}$$

③

$$\begin{array}{r} 1950 \\ 4 \overline{) 7800} \\ \underline{4} \\ 38 \\ \underline{36} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1306 \\ 7 \overline{) 9142} \\ \underline{7} \\ 21 \\ \underline{21} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1076 \\ 7 \overline{) 7534} \\ \underline{7} \\ 53 \\ \underline{49} \\ 44 \\ \underline{42} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 1026 \\ 9 \overline{) 9241} \\ \underline{9} \\ 24 \\ \underline{18} \\ 61 \\ \underline{54} \\ 7 \end{array}$$

①

$$\begin{array}{r} 1202 \\ 6 \overline{) 7213} \\ \underline{6} \\ 12 \\ \underline{12} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

②

$$\begin{array}{r} 1803 \\ 2 \overline{) 3606} \\ \underline{2} \\ 16 \\ \underline{16} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

③

$$\begin{array}{r} 161 \\ 8 \overline{) 1293} \\ \underline{8} \\ 49 \\ \underline{48} \\ 13 \\ \underline{8} \\ 5 \end{array}$$

④

$$\begin{array}{r} 2407 \\ 4 \overline{) 9631} \\ \underline{8} \\ 16 \\ \underline{16} \\ 31 \\ \underline{28} \\ 3 \end{array}$$

⑤

$$\begin{array}{r} 2846 \\ 2 \overline{) 5693} \\ \underline{4} \\ 16 \\ \underline{16} \\ 9 \\ \underline{8} \\ 13 \\ \underline{12} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 250 \\ 4 \overline{) 1000} \\ \underline{8} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

①

$$\begin{array}{r} 538 \\ 7 \overline{) 3766} \\ \underline{35} \\ 26 \\ \underline{21} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

②

$$\begin{array}{r} 885 \\ 7 \overline{) 6199} \\ \underline{56} \\ 59 \\ \underline{56} \\ 39 \\ \underline{35} \\ 4 \end{array}$$

③

$$\begin{array}{r} 925 \\ 8 \overline{) 7403} \\ \underline{72} \\ 20 \\ \underline{16} \\ 43 \\ \underline{40} \\ 3 \end{array}$$

④

$$\begin{array}{r} 804 \\ 4 \overline{) 3218} \\ \underline{32} \\ 18 \\ \underline{16} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 1010 \\ 4 \overline{) 4041} \\ \underline{4} \\ 4 \\ \underline{4} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 178 \\ 8 \overline{) 1428} \\ \underline{8} \\ 62 \\ \underline{56} \\ 68 \\ \underline{64} \\ 4 \end{array}$$

①

$$\begin{array}{r} 257 \\ 8 \overline{) 2062} \\ \underline{16} \\ 46 \\ \underline{40} \\ 62 \\ \underline{56} \\ 6 \end{array}$$

②

$$\begin{array}{r} 2249 \\ 2 \overline{) 4498} \\ \underline{4} \\ 4 \\ \underline{4} \\ 9 \\ \underline{8} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1006 \\ 6 \overline{) 6038} \\ \underline{6} \\ 38 \\ \underline{36} \\ 2 \end{array}$$

④

$$\begin{array}{r} 1183 \\ 3 \overline{) 3550} \\ \underline{3} \\ 5 \\ \underline{3} \\ 25 \\ \underline{24} \\ 10 \\ \underline{9} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 1073 \\ 8 \overline{) 8587} \\ \underline{8} \\ 58 \\ \underline{56} \\ 27 \\ \underline{24} \\ 3 \end{array}$$

⑥

$$\begin{array}{r} 1009 \\ 7 \overline{) 7064} \\ \underline{7} \\ 64 \\ \underline{63} \\ 1 \end{array}$$

①

$$\begin{array}{r} 1617 \\ 5 \overline{)8087} \\ \underline{5} \\ 30 \\ \underline{30} \\ 8 \\ 5 \\ \underline{5} \\ 37 \\ \underline{35} \\ 2 \end{array}$$

②

$$\begin{array}{r} 1805 \\ 5 \overline{)9025} \\ \underline{5} \\ 40 \\ \underline{40} \\ 25 \\ \underline{25} \\ 0 \end{array}$$

③

$$\begin{array}{r} 415 \\ 4 \overline{)1661} \\ \underline{16} \\ 6 \\ 4 \\ \underline{4} \\ 21 \\ \underline{20} \\ 1 \end{array}$$

④

$$\begin{array}{r} 575 \\ 9 \overline{)5175} \\ \underline{45} \\ 67 \\ \underline{63} \\ 45 \\ \underline{45} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 503 \\ 5 \overline{)2515} \\ \underline{25} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 1779 \\ 4 \overline{)7116} \\ \underline{4} \\ 31 \\ \underline{28} \\ 31 \\ \underline{28} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

①

$$\begin{array}{r} 983 \\ 6 \overline{) 5898} \\ \underline{54} \\ 49 \\ \underline{48} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

②

$$\begin{array}{r} 240 \\ 9 \overline{) 2160} \\ \underline{18} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

③

$$\begin{array}{r} 1203 \\ 4 \overline{) 4815} \\ \underline{4} \\ 8 \\ \underline{8} \\ 15 \\ \underline{12} \\ 3 \end{array}$$

④

$$\begin{array}{r} 2003 \\ 4 \overline{) 8012} \\ \underline{8} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 2750 \\ 3 \overline{) 8250} \\ \underline{6} \\ 22 \\ \underline{21} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 409 \\ 8 \overline{) 3272} \\ \underline{32} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

①

$$\begin{array}{r}
 2271 \\
 2 \overline{) 4542} \\
 \underline{4} \\
 5 \\
 \underline{4} \\
 14 \\
 \underline{14} \\
 2 \\
 \underline{2} \\
 0
 \end{array}$$

②

$$\begin{array}{r}
 623 \\
 6 \overline{) 3742} \\
 \underline{36} \\
 14 \\
 \underline{12} \\
 22 \\
 \underline{18} \\
 4
 \end{array}$$

③

$$\begin{array}{r}
 469 \\
 4 \overline{) 1877} \\
 \underline{16} \\
 27 \\
 \underline{24} \\
 37 \\
 \underline{36} \\
 1
 \end{array}$$

④

$$\begin{array}{r}
 501 \\
 2 \overline{) 1002} \\
 \underline{10} \\
 2 \\
 \underline{2} \\
 0
 \end{array}$$

⑤

$$\begin{array}{r}
 221 \\
 8 \overline{) 1770} \\
 \underline{16} \\
 17 \\
 \underline{16} \\
 10 \\
 \underline{8} \\
 2
 \end{array}$$

⑥

$$\begin{array}{r}
 3048 \\
 3 \overline{) 9144} \\
 \underline{9} \\
 14 \\
 \underline{12} \\
 24 \\
 \underline{24} \\
 0
 \end{array}$$

①

$$\begin{array}{r} 969 \\ 7 \overline{) 6787} \\ \underline{63} \\ 48 \\ \underline{42} \\ 67 \\ \underline{63} \\ 4 \end{array}$$

②

$$\begin{array}{r} 581 \\ 5 \overline{) 2905} \\ \underline{25} \\ 40 \\ \underline{40} \\ 5 \\ \underline{5} \\ 0 \end{array}$$

③

$$\begin{array}{r} 308 \\ 8 \overline{) 2465} \\ \underline{24} \\ 65 \\ \underline{64} \\ 1 \end{array}$$

④

$$\begin{array}{r} 307 \\ 4 \overline{) 1228} \\ \underline{12} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 1177 \\ 3 \overline{) 3532} \\ \underline{3} \\ 5 \\ \underline{3} \\ 23 \\ \underline{21} \\ 22 \\ \underline{21} \\ 1 \end{array}$$

⑥

$$\begin{array}{r} 1291 \\ 5 \overline{) 6455} \\ \underline{5} \\ 14 \\ \underline{10} \\ 45 \\ \underline{45} \\ 5 \\ \underline{5} \\ 0 \end{array}$$

①

$$\begin{array}{r}
 2236 \\
 3 \overline{) 6708} \\
 \underline{6} \\
 7 \\
 \underline{6} \\
 10 \\
 9 \\
 \underline{ 9} \\
 8 \\
 \underline{ 8} \\
 0
 \end{array}$$

②

$$\begin{array}{r}
 703 \\
 4 \overline{) 2814} \\
 \underline{28} \\
 14 \\
 \underline{12} \\
 2
 \end{array}$$

③

$$\begin{array}{r}
 625 \\
 6 \overline{) 3750} \\
 \underline{36} \\
 15 \\
 \underline{12} \\
 30 \\
 \underline{30} \\
 0
 \end{array}$$

④

$$\begin{array}{r}
 490 \\
 5 \overline{) 2453} \\
 \underline{20} \\
 45 \\
 \underline{45} \\
 3
 \end{array}$$

⑤

$$\begin{array}{r}
 540 \\
 5 \overline{) 2704} \\
 \underline{25} \\
 20 \\
 \underline{20} \\
 4
 \end{array}$$

⑥

$$\begin{array}{r}
 1085 \\
 9 \overline{) 9771} \\
 \underline{9} \\
 77 \\
 \underline{72} \\
 51 \\
 \underline{45} \\
 6
 \end{array}$$

①

$$\begin{array}{r} 724 \\ 2 \overline{) 1448} \\ \underline{14} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

②

$$\begin{array}{r} 881 \\ 5 \overline{) 4409} \\ \underline{40} \\ 40 \\ \underline{40} \\ 9 \\ \underline{5} \\ 4 \end{array}$$

③

$$\begin{array}{r} 1116 \\ 7 \overline{) 7817} \\ \underline{7} \\ 8 \\ \underline{7} \\ 11 \\ \underline{7} \\ 47 \\ \underline{42} \\ 5 \end{array}$$

④

$$\begin{array}{r} 1204 \\ 6 \overline{) 7225} \\ \underline{6} \\ 12 \\ \underline{12} \\ 25 \\ \underline{24} \\ 1 \end{array}$$

⑤

$$\begin{array}{r} 1031 \\ 8 \overline{) 8252} \\ \underline{8} \\ 25 \\ \underline{24} \\ 12 \\ \underline{8} \\ 4 \end{array}$$

⑥

$$\begin{array}{r} 1101 \\ 8 \overline{) 8809} \\ \underline{8} \\ 8 \\ \underline{8} \\ 9 \\ \underline{8} \\ 1 \end{array}$$

①

$$\begin{array}{r} 1092 \\ 9 \overline{) 9831} \\ \underline{9} \\ 83 \\ \underline{81} \\ 21 \\ \underline{18} \\ 3 \end{array}$$

②

$$\begin{array}{r} 1227 \\ 8 \overline{) 9818} \\ \underline{8} \\ 18 \\ \underline{16} \\ 21 \\ \underline{16} \\ 58 \\ \underline{56} \\ 2 \end{array}$$

③

$$\begin{array}{r} 1045 \\ 6 \overline{) 6273} \\ \underline{6} \\ 27 \\ \underline{24} \\ 33 \\ \underline{30} \\ 3 \end{array}$$

④

$$\begin{array}{r} 3913 \\ 2 \overline{) 7826} \\ \underline{6} \\ 18 \\ \underline{18} \\ 2 \\ \underline{2} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 241 \\ 8 \overline{) 1930} \\ \underline{16} \\ 33 \\ \underline{32} \\ 10 \\ \underline{8} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 1750 \\ 2 \overline{) 3501} \\ \underline{2} \\ 15 \\ \underline{14} \\ 10 \\ \underline{10} \\ 1 \end{array}$$

①

$$\begin{array}{r} 840 \\ 5 \overline{)4200} \\ \underline{40} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

②

$$\begin{array}{r} 678 \\ 7 \overline{)4752} \\ \underline{42} \\ 55 \\ \underline{49} \\ 62 \\ \underline{56} \\ 6 \end{array}$$

③

$$\begin{array}{r} 3504 \\ 2 \overline{)7008} \\ \underline{6} \\ 10 \\ \underline{10} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 1456 \\ 3 \overline{)4370} \\ \underline{3} \\ 13 \\ \underline{12} \\ 17 \\ \underline{15} \\ 20 \\ \underline{18} \\ 2 \end{array}$$

⑤

$$\begin{array}{r} 312 \\ 5 \overline{)1562} \\ \underline{15} \\ 6 \\ \underline{5} \\ 12 \\ \underline{10} \\ 2 \end{array}$$

⑥

$$\begin{array}{r} 377 \\ 5 \overline{)1886} \\ \underline{15} \\ 38 \\ \underline{35} \\ 36 \\ \underline{35} \\ 1 \end{array}$$